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256500
Na, CO, Na,CO, * 10H,0 ~ 10H,0
106 g 286 g 180 g
0.180 g m,( Na,CO, * 10H,0) m,( H,0)

m,( Na,CO, *» 10H,0) =0.486 ¢
m,( H,0) =0.306 ¢

(2) m,( Na,CO,)  m,( Na,CO,
10H,0)  m, ( H,0)
° m,( Na,CO, * 10H,0) 3 m,( Na,CO, * 10H,0)
1 Na, CO, -
10.0 g/(100 g ). 10.0 g x0.306 ¢
Na, CO,( aq) 1.06 g Na, CO, my(Nay CO,) =—=— == . =0.0306 g
° ° Na, CO, Na,CO, * 10H,0 ~ 10H,0
106 g 286 g 180 g
° 0.0306 g m,( Na,CO, * 10H,0) m,( H,0)
I( ) 1.06 ¢ m,( Na,CO, * 10H,0) =0.0826 g m,( H,0)
N32C03 m]( N32C03 * =0.0520 g
10H,0) m,( H,0)
N s m,( Na,C0,) =10:08x0.020 g _ 559,
a,C0, Na,CO, * 10H,0 ~ 10H,0 100 g
106 286 180
g g g m.(Na,CO, + 10H,0) =0:00520 £x286 ¢ _
1.06 ¢ m,(Na,CO, * 10H,0) m,(H,0) ' 106 g
m,( Na,CO, * 10H,0) =2.86 g 0.0140 g
m,(H,0) =1.80 ¢ e ( 0.170 )
1.80 g Na,CO, :
m,( Na,CO;) Na, CO, m( Na,CO, * 10H,0) =_§:1,]mi(NaZCO3 * 10H,0) =
m,( Na,CO, * 10H,0) 2.86 g+0.486 g+0.0826 g +0.0140 g+ ==+
m,( H,0) =3.44 ¢
m,( Na,CO,) =%=o. 180 ¢ 2 ) Na,CO, * 10H,0
g
» B.pH=2 pH =12 =¢(NH/) A . pH=2
t¢(OH™) =¢(H") pH =12 ;pH=2
C.0.1 mol L™ i¢(NH;") > pH =12
¢(S0;7) >c(H") B . C NH,

D.0.1 mol « L™ ¢(OH") = ¢(NH) >¢(S07) >¢(H") C  ;
c¢(H") +c¢(HS™) +c¢( H,S) ¢(OH™) =¢(H) +
A ce(CT) + 0 L(HST) 4+2¢(H,8) D . :C
¢(OH") =c(NH;) +c(H") pH=7 c(C17) ( 12014 — 11 - 04)
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x Na, CO,

106x 180x
=286 "MRO) =7e¢

106x
286

m( Na,CO,)

( ~1.06 g) Na,CO,

180x
286
106x
g6 1106 £ 10.0g
180x 100 g
286

13.45 ¢

x=3.45 g.

$,>8,>8.>S,
:D.C.B Ao
2
(g/100 ¢ H,0) :
NaNO, KNO, NaCl KCI
10°C  80.5 20.9 35.7 31.0
100°C 175 246 39.1 56.6

( @

@ )

(1) 23.4gNaCl 40.4 gKNO, 70.0g
H,0 . 100°C 50.0 g H,0
(m )e

10 C .

e 35 .

(m )
(2) 34.0 g NaNO,  29.8 g KCI

. 10°C |
) o 100°C  10C (m-
m” ) ?
(1) 100°C  S( NaCl)
NaCl KCl.NaNO,; KNO,

m =23.4g-39.1¢x(70.0¢g-50.0¢) =+
100 g

=23.4¢-7.82 ¢

=15.6 ¢
10C KNO,
NaCl KNO, :

40.4 ¢-20.9 gx(70.0g-50.0 g) +100 ¢

=40.4 ¢g-4.18 ¢

=36.2 ¢

NaCl :

(39.1 g-35.7¢g) x(70.0 g-50.0 g) +100

g=0.68 g
'm =0.68 g+36.2 ¢g=36.9 ¢
(2)

23.4 ¢

N‘ Cl = - 5 = KNO =
n(NaCl) = sy ot~ " (KNG
Lg_lzn( NaNO3)
101 g * mol
_ 34.0¢g ——a(KCl) = 29.8 g .
85.0 g * mol 74.5 g * mol
=0.400 mol.
100°C
NaCl KNO,
NaCl, (2)
m’ = =156 g m~ =m =36.9¢

m
(1)15.6 36.9g (2)15.636.9 ¢

( 12014 - 11 - 17)



